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 1. Christine bought 8 cartons of eggs. Each carton contains  
12 eggs. She threw away 7 eggs which were rotten. How 
many eggs did Christine have left?

Ans: 

 2. The price of mangoes is shown in the figure below. Roy 
bought 27 mangoes. How much money did he pay in all?

3 for $8

Ans: $

 3. There were 12 rows of chairs in a classroom. There were  
8 chairs in each row. Mr Tan rearranged the chairs into rows 
of 6. How many rows of chairs were there in the end?

Ans: 

 4. Each statement below is either “true” or “false” or “not 
possible to tell”. For each statement, put a tick ( ) in the 
correct column.

  There are 280 beads in box A. There are twice as many beads 
in box A than in box B. The number of beads in box C is 
equal to the total number of beads in box A and box B.

Statement True False Not possible 
to tell

(a) There are 840 beads in 
box C.

(b) There are thrice as many 
beads in box C than in 
box B.

 5. Hannah has 869 marbles. Her brother has 355 marbles.
  (a) How many marbles must Hannah give to her brother 

so that both of them will have the same number of 
marbles?

  (b) Hannah gives her brother the number of marbles found 
in part (a). How many marbles does each of them have 
now?

Ans: (a) 

(b) 

 6. On a farm, there are 50 chickens and cows altogether. They 
have 142 legs in total.

  (a) How many cows are there on the farm?
  (b) Are there more chickens or cows on the farm? How 

many more?

Ans: (a) 

(b) 

 7. Erasers are sold in packs of 6. Each pack costs $4. For every  
3 packs of erasers bought, 2 erasers are given for free. Adam 
bought 8 packs of erasers.

  (a) How much money did Adam spend in all?
  (b) How many erasers did Adam get for free?

Ans: (a) 

(b) 

 8. A dining table and six identical chairs cost $544 in total. Each 
chair costs half as much as the dining table.

  (a) How much does the dining table cost?
  (b) How much do the six chairs cost altogether?

Ans: (a) 

(b) 
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